
 
 
 
 
 
 
 
 
 

 

Question Verbs Interactive Worksheet ​Answers 
Fill in this worksheet at the same time as watching the video on question verbs in                               
English. Use the answer guide to check your answers.  

 
EXERCISE A 
Select the correct sentence below.  
 
✏ The present continuous tense always requires the auxiliary verb to do 
✏ The present continuous tense always requires the auxiliary verb to be 
✏ The present continuous tense uses both the verbs to be and to do as the 

auxiliary verb 
 
EXERCISE B 
Select the correct sentence below.  
 
✏ The present simple tense always requires the auxiliary verb to do 
✏ The present simple tense always requires the auxiliary verb to be 
✏ The present simple tense uses both the verbs to be and to do as the 

auxiliary verb 
 
EXERCISE C 
Fill the gaps with the correct auxiliary verbs and explain why this is the correct 
auxiliary verb.  
 

1) Do​ you have any sisters? 
The present simple tense is required and there is another verb (have) so we need 
the auxiliary verb to do. 
 

2) Is​ he watching the TV? 
The present continuous tense is required because there is a present participle (ING), 
so this is the auxiliary verb to be.  
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